[ W58 ] S#5%F5A

% Lo R % Bifp Hifi (M) i %

- BEXKAEM RET

BECEARRILRT R4 : fEREFHE T ¥-EA H=1.2m m 888 | AEEML=20mKiFEESL, T (15° KiH)
BECEARRILMRT AR - JEREFA.E (T ¥-ERA H=1.8m m 1,270 | NEE#RL=20mKFEEEL, T (15° KiH)
BECEARRILRT R4 : fEREFHE T =H H=1.8m m 1,680 | AEEMRL=20mKFEESL, T (15° KiH)
BECEARRILRT  BEEEER - fE* - [HEE MEE ¥ -ERA H=1.2m m 755 | ANBEMRL=20mKFEESL, T (15° KiH)
BECEARRILRT  BEEEER - fE* - [HEE MEE ¥ -FERA H=18m m 1,120 | NEE#RL=20mKFEEEL, T (15° KiH)
BECEARRILRT  BEEEER - fE* - [HEE 2 A H=1.8m m 1,890 | ABEEML=20mKFEEEL, T (15° KiH)
BECEARRILRT  BEEEER - fE* - [HEE EE ¥-ER H=12m m 755 | ANBEML=20mKFEESL, T (15° KiH)
BECEARRILRT  BEEEER - fE* - [HEE EE ¥ -ERA H=18m m 1,120 | NEEMRL=20mKFEEEL, T (15° KiH)
BECEARRILRT  BEEEER - fE* - [HEE EE XA H=1.8m m 1,890 | ABEEMRL=20mKFEEEL, T (15° KiH)
BEGEAMRILMT AR ¥-BEM H=1.2m B=1.0m B 3,310 |AEEML=20mK#HZEEL. FiBH (15° ki)
BEGEAMRILMT AR ¥-BEM H=1.2m B=1.5m B 3,310 |AEEMHL=20mK#HEEL. FiBH (15° ki)
BEGEAMRILMT AR ¥-FBERM H=1.2m B=2.0m B 4,040 | NEEW=20mEHmEEL, FiH (15° ki)
BEGEAMRILMT AR ¥-BEM H=1.2m B=2.5m B 4,400 | A\EEW=20mEHmEEL., FiBM (15° ki)
BEGEARILMT AR ¥-FEM H=1.2m B=3.0m B 4,580 |A\EEWM=20mEHmEEL, FiBH (15° ki)
BEGEARILMT AR ¥ -FBEM H=1.2m B=3.5m B 4,950 |AEEW=20mEHmEEL., FiBH (15° ki)
BEGEAMRILMT AR ¥-BEM H=1.2m B=4.0m & 5310 |AEEMHL=20mK#HEEL. FiBH (15° ki)
BEGEAMRILMT AR ¥ -BERM H=1.2m B=4.5m b - I ANEERL=20mKFEESL, T (15° KiE)
BEGEAMRILMT AR ¥-FBEM H=1.2m B=5.0m b - I ANEERL=20mKFEESL, T (15° KiE)
BEGEARILMT AR ¥ -FBERM H=1.8m B=1.0m B 4,040 | NEEW=20mEHmEEL., FiBH (15° ki)
BEGEARILMT AR ¥ -FBEM H=1.8m B=1.5m B 4,060 |AEEWM=20mEHmEEL, FiH (15° ki)
BEGEARILMT AR ¥-FERM H=1.8m B=2.0m B 5330 |AEBEHL=20mKHEEL. FiBH (15° ki)
BEGEAMRILMT AR ¥ -FERM H=1.8m B=2.5m B 5600 |ABEMHL=20mKiHEEL. FiBH (15° ki)
BEGEAMRILMT AR ¥ -FBEM H=1.8m B=3.0m B 6,050 |ABEHL=20mKiHEEL. FiBH (15° ki)
BEGEAMRILMT AR ¥ -FBEM H=1.8m B=3.5m B 6,600 |ABEMHL=20mKHEEL. FiBH (15° ki)
BEGEAMRILMT AR ¥ -FBERM H=1.8m B=4.0m B 7,320 |NEEHL=20mK#HEEL. T (15° ki)
BEGEARILMT AR ¥ -FBEM H=1.8m B=4.5m ES - I ANEERL=20mKFEESL, T (15° KiH)
BEGEARILMT AR ¥ -FBEM H=1.8m B=5.0m ES - | NEERL=20mKFEESL, T (15° KiH)




[ W58 ] S#5%F5A
% Lo R Bifp Hifi (M) i %

BEGEAMRILMT AR J=F H=1.8m B=1.0m B 11,000 |AEE#RL=20mKFEESL, Fih (15° KiH)
BEGEAMRILMT AR J=F H=1.8m B=1.5m & 11,400 | AEERL=20mKFEESL, Fih (15° KiH)
BEGEARILMT AR =F H=1.8m B=2.0m B 21,400 | AEEWL=20mEHmEEL ., FiBH (15° ki)
BEGEAMRILMT AR =F H=1.8m B=2.5m & 22,600 |AEEWML=20mEHmEEL ., FiBH (15° ki)
BEGEARILMT AR J=F H=1.8m B=3.0m B 24,000 |AEEWHL=20mEHmEEL ., FiBH (15° ki)
BEGEAMRILMT AR J=F H=1.8m B=3.5m & 25,800 |AEEML=20mEHmEEL ., FiBH (15° ki)
BEGEARILMT AR J=F H=1.8m B=4.0m B 27,800 |AEEWML=20mEHmEEL., FiBH (15° ki)
BEGEAMRILMT AR J=F H=1.8m B=4.5m & - I ANEERL=20mKFEESL, T (15° KiH)
BEGEARILMT AR J=F H=1.8m B=5.0m B - I ANEERL=20mKFEESL, T (15° KiH)
SEEAIMT #2374 ¥ -BA H=1.2m BFT 1,540 | NEEMRL=20mKFEESL, T (15° KiH)
SEEAIMT #2274 ¥ -BA H=1.8m BFT 7,800 |AEBEHL=20mK#HEEL. FiBH (15° ki)
SEEAIMT #2374 =A H=1.8m BFT 7,800 |AEBEMHL=20mK#HEEL. FiBH (15° ki)
SEEAMILHMT Tk =A P - I ANEERL=20mKFEESL, T (15° KiH)
BEGEAMRIEMT SREPIRIEE ¥ -FERM H=1.2m B=4.5m B 68,200 |ABEML=20mKFHEEL. FiBH (15° ki)
BEGEATRIEMT sREPIRIEE ¥ -FBEM H=1.2m B=5.0m B 79,000 |ABEHL=20mKHEEL. FiBH (15° ki)
BEGEAMRIEMT sREPIRIEE ¥ -FBEM H=1.8m B=4.5m B 102,000 |ABEHL=20mK#HZEEL. FiBH (15° ki)
BSEEARGIEMT sRIEPIRIEE ¥ -FBERM H=1.8m B=5.0m & 106,000 |ABEHL=20mKFHZEEL. FiBH (15° ki)
SEEARGIEMT sRIEPIRIEE J=F H=1.8m B=4.5m & 106,000 |AEBEHL=20mKFHZEEL. FiBH (15° ki)
SEEARGIEMT sRIEPIRIEE J=F H=1.8m B=5.0m & 109,000 |ABEHL=20mK#HZEEL. FiBH (15° ki)




